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QUESTION 1

Within the Implementation and Migration Extension, which concept is the only one that models behavior? 

A. Deliverable 

B. Plateau 

C. Gap 

D. Work Package 

Correct Answer: D 

 

QUESTION 2

Which of the following best describes why ArchiMate supports specialization of concepts? 

A. It is the only way to model enterprise architecures that are useable and easy to communicate to the stakeholders 

B. It is needed to represent the same concept on different viewpoints 

C. It provides extra flexibility, enabling users to customize the language to their own preferences and needs, while
maintaining the underlying precise definition of the concepts 

D. It is allowed because without this mechanism it would be impossible to add attributes to ArchiMate concepts and
relations 

Correct Answer: C 

 

QUESTION 3

Which of the following statements about ArchiMate viewpoint classification is correct? 

A. There are three purpose dimensions and three abstraction levels 

B. There are two purpose dimensions and three abstraction layers 

C. There are four purpose dimensions and two abstraction levels 

D. There are three purpose dimensions and four abstraction layers 

Correct Answer: A 

 

QUESTION 4

Consider the following symbol, which represents information about a transformation project at ArchiSurance. Note that
premium in this context means the total revenue ArchiSurance receives from legal services insurance premium
payments: 
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Which of the following statements correctly expresses the meaning of the symbol? 

A. ArchiSurance has attributed a 15% increase in premium to the transformation project in 

B. The increased premium revenue created by completion of the transformation project will motivate significant change
in the ArchiSurance Legally Yours division 

C. ArchiSurance has set a goal to increase legal services premium by 15% in 2012, as compared to the previous year 

D. ArchiSurance has a requirement to increase legal services premium by 15% in 2012 

Correct Answer: C 

 

QUESTION 5

Consider the following diagram: Which of the following best describes what this diagram represents? 

A. A device with two system software environments. Two artifacts are deployed in one system software environment,
and one artifact is deployed in the other environment 

B. A node with two devices. Two artifacts are deployed in one device, and one artifact is deployed in the other device 

C. A node with two system software environments. Two artifacts are deployed in one system software environment, and
one artifact is deployed in the other environment 
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D. A node with two application components. Two artifacts are deployed in one application component, and one artifact is
deployed in the other components 

Correct Answer: C 
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